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1. Which of the following is a source u['uns;.lr:umnl.iu risk? %"‘& (e

A. Interest rates 1
B. Business cycle
C. Energy Prices
@7 Introduction of a bad product

The is the compound annual rate of intergst earned on a debt security

purchased on a given date and held 10 maturity.

13

A. Risk premium
B. Yield curve
C. Risk-free rate

(D3 Yield to maturity ¢
| _ <
The yalue of any assel 15 the

|_-|-.I

A. Sum of all future cash Mows it is expected to provide over the relevant ime period
£B! Sum of the present values of all future cash flows it is expected to provide over the

releyant time period
C. Present value of the sum of all fulure cash flows it is expected to provide over the

relevant time period
D. Sum of all compounded future cash flows it is expected to provide over the relevant

time period
4. Consistent with capital market theory, systematic risk: P
capital marke y, sysiematic risk

1. Refers to the variability in all risky assets caused by macroeconomie and ather

velseehr  Cault o Hited

ageregate market-related variables.
Il. Is measured by the coefficient of variation of returns on the market portfolio. oV

1ll. Refersto nondiversifiable risk.
A. lonly
8. Ilonly
jand [l only
D. 1l and 11l only

5. An investor is considering adding another invesiment 10 a portfolio. To achieve the
maximum diversification_benefils the investor should add an investment that has @
Gorrelation coeflicient with the ex isting portfolio closest to:
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. ..-‘acmrdlng to the CAPM, what is the rale ol return of a portfolio with a betg of1?

. Between R Ilnd Ry
H‘._ The risk-free rate, Ry | R § Ayt "E:. s l\‘{'-,,.... -R"F\|
C. Beta * (Ra—Ry)
#07 The ret the market, Ry (- Rk {'miﬂ
(D] The return on the market : m"‘;\ W “_.,'-;. RS A0S
2 The j_ﬂ_gj;ﬂn_mm_mpll a bond is i, the U, 8 = I31Ii e is 3 pere
maturily risk premijum on the bond is 3 Eﬁ the_ i3 IH 1131:-&3
is 2 percent, and the liquidity risk premium on the {I is reent, Caleulate its
nominal rate of retum; -
Ex€ Rt
A, 16% 1R w3, H*IP*R‘?
B. 13% e '
: AL
C11% 2 4 4
D. 9% g €
2 L D
8. Astock witha betaof2js “w¥e=b Sle E%h.

. Twice as risky as the average stock in the market.
Will have twice the expected return as the average stock in the market.
C. Will have twice the standurd deviation as the average stock in the market.
D. Will have twice the return as the risk-liee rate. . % V - fAiend
=0
9. What is the expected retumn of a zero-beta security?

¥ < R&

A. Market rate of return.

B. Zero mte ol return.

C. Negative rate of return.
Risk-free rate of return.

10. rale of interest cregles equilibrivm between the supply of savings and the
demand for investment funds, G up Zdemad
i —— o

1‘3 MNominal

ha Real

C. Risk-free x
D. Inflationary »

1 1. Theterm strueture of interest rates is the relationship between :

A. The present value of principal and coupon rate of the bonds
B. The general expectation of inflation and nominal rate of return for bonds

The general expectation of inflation and real rate of return for bonds
I'he maturity and rate of rewurn for bonds with similar level of risk
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' t subsequent creditags agree to wait until all elaims of the are senior
%ﬁhﬂﬁgﬂnﬁdﬂmn&ﬁﬂ
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Essay Questions

l. You hU:r ﬂpﬂl&iﬁ!ﬁkm share, ;\,PPJL, 5 glock ”swm}_lhi_ riext year, i

You receive 85 during your holding period, what is your raie of e a the end of
the first PODE = AT AT I G s R e

{J‘q :FQ '{-t_!"\-{-ﬁ = CL * mf“ﬂﬁ S P"—'“"hrq. '||-'|.

rFl.'i':.l:'L'”-""'l:“ I;";. 'r‘\g-

2. You are given the following estimates for Stock’s A and [,
| State of economy | Probability _'_’T'.'i;mLL AU/-Y) | Stock B
Poor = 0.25 |— %h - & 6 8% 4.5
| Normal = |l i E ; -R. 15 1% =g 5
[-:de (035 =~  [12% _e e |90 e

- A, What are the gxpected returns for stock’s A and B respectively? 3 points”

( shacWAd - kEﬂ M- 025 +i-:-ér :c,i’ (Ld}r.::"ﬁ}f ‘L\“"Pf‘]

<= e “ﬂ 4
=, -E."-‘E-'.‘
"f" Ekamtﬁ@-}"( g 7.4 0.25) t\pf i:I'::r"] w22

o T S | I;'__r*l ';:)E'

— —

{ —=— B. What are the standard deviations [gr stock’s A and B respectively?|
=V o) @l Aecti & b

'51'1:{7
G .2) =

-G 0.\ 55
‘1.--5.:-‘?, " abobk

CVUn's =t W ghed
: S Ak

! rhaw ClUg =% J—'\ﬁé >N

<5 Uo(e
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£ i o privee :
= The mble below gives the amount invested and betas for three st
e sistooks.

Stock Amount lnvested el

GM [ 310,000 Ly F‘:L:“ ¥

IBM | $10,000 e o s

WMT | $20,000 e P52
SR A

e LI!‘L-H o e ¥ it 5 5 o i e
A L fjﬂ? the L e}l M, if the expected retum for the market is %% and the risk-{
i 394, what is the expected retnmn for each:stock? ¥ 3 Pomis™ risk-free rate

{_7—- ﬁl— o !":l'k r-‘“—R{I\l

0
= ‘i’ { )
. What is the beta forthis Glio based on the inrw,as:lwr
]

:k\\ w O z{}') 4:{\1..'1}{ ﬂ?.é-l*&_‘_;l"‘[._"g{::_ :

C. Usingthe CAPM, what is the expected return for this portfolio??” 2 Points?
~ApMm { - Rexbl G re) "

— il § ol LR 'E-'.\]
T ':.fg'hi'.'*

cew bonds to finance its expansion plans, In its efforts to

T :
£ ot acebook plans 10 155U€ C
T =97 price the issue, Facebook has identified a company of similar risk with an
R o outstanding bond issue that has an = oupon rate hlm"mg :llms.tl.u‘uil.}' of ten
sp. | oo years. This firm's bonds are currently selling for g1 080, Il intergstis paid annually
' T S ol ik I " = -
E for both bonds, what must the colpon fate o the new bonds be in order for the issue

to sell at o whatwill be the Current yield of this bond? * 5 Points”

Epesh e -
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5, Use the following expectations
grested by combining 609

on 3ocks X and Y 1o build & portfolio XY,
of stock X and 40% of stock Y —

[ TPrabability [Siek Ko T B
[BearMarker |02 | g oy Voam ] G, Ty -
[ Nommal Market | 0.5 1 g et i3d y "7V |}, = B Ph i
[Bull Market [03
e — g
o Ihu.'.ﬂ“m and the standard deiation of this portfolio? “5 points”
¢ =18~ xa2 ) yKig.ox05) (347 x 0.3) )
- ‘:' .I| I
_ T s | M +- T i I{ / -f.r
/ g T s/
7 o\ . =
8 -III _.__'_._..-l' gu —
6 - 'ﬁ-‘“’ 25 (| L AT
) \We e =N ">
o T \ "
- 2 L) WeE
el i LV o+ E
0 .34 o\ b o232 | f_/‘ﬁ" - N
0. 02% 6.+l o. o3 LI./' é; R =N oop SLER
R ( A r,
D-\2 WAL '..t.;g ne / g_}
o | o
6. An annual coupon borgl has 51000 face valug, coupon mie of 3%, will muurein >
in 10 years, and currently sells for $810, what would be the rate of rewifiomyoue |
Tnvestment afier two years, il you sell the bond at market intergst rate of 4%. .5
Points” l
PN Q. oo “1 - L \ese L wbo |
"k\:i:r o : ’.‘:‘? i ‘;';:}l b AT --—'—_'_.-::__;F_ F r '1. \\\
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